@
[
4=
o
b=
=
=
w

GG El[llTHI]NI[:S
JHEAVY DUV TOGGLES

SWITCHES

Bulk uator Terminal Spec. Drawing
I 8 ° 5
Part No. rows ; aterial Type Hardiare Page No.

35-078-BU 1 Solder N, KN
35-143 | 35-143-BU 2 |On Off On | 4PDT 15 10 3/4 Bat Metal 0.465 0.500 Screw N, FN, Sc 277-B
35-145 | 35-145-BU 2 |On Off | 4PST 15 10 3/4 Bat Metal 0.465 0.500 Screw N, FN, Sc 277-B
35-3080 | 35-3080-BU 2 |On On | 4PDT 15 10 3/4 Bat Metal 0.465 0.500 Screw N, FN, Sc 277-B
35-3135] 35-3135-BU| 3 [ ** 10n Off | ¢ 15 10 12 Bat Brass 0.468 0.500 Screw N, FN, Sc 277-C
35-126 | 35-126-BU 4 |On Off | DPST 16 8 1 Bat Metal 0.465 0.500 Screw N, FN 277-D
35-3070 | 35-3070-BU 4 On Off | SPST 16 8 1-1/2 Bat Metal 0.465 0.500 Screw N, Sc 277-E
35-139 | 35-139-BU 5 |On Off | 3pPST 17 12 1-1/2 Bat Metal 0.465 0.500 Screw N, FN, Sc 277-F
35-140 | 35-140-BU 5 |On Off On | 3PDT 17 12 1-1/2 Bat Metal 0.465 0.500 Screw. N, EN, Sc 277-F
35-141 | 35-141-BU 5 On On | 3PDT| 17 12 1-1/2 Bat Metal 0.465 0.500 Screw N, FN, Sc 277-F
35-080 | 35-080-BU 6 |On Off | SPST 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc, ID 277-G
35-110 | 35-110-BU 6 |On Off On | SPDT 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-H
35-130 | 35-130-BU 6 On On | SPDT 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-H
35-144 | 35-144-BU 7 |On On | DPDT 20 10* 1-1/2 Bat Metal 0.465 0.500 Solder N, KN 277-1
35-146 | 35-146-BU 6 On On | DPDT 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-
35-148 | 35-148-BU 6 |On Off On | DPDT 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-1
35-149 | 35-149-BU 7 On Off On|DPDT 20 10 3/4 Bat Metal 0.465 0.500 Solder N, KN 277-1
35-150 | 35-150-BU 6 (On) Off (On)| DPDT 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-1
35-151 | 35-151-BU 6 |On Off (On)| DPDT 20 10* 1-1/2 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-1
35-153 | 35-153-BU 8 |On Off (On)| SPDT 20 10* 3/4 Bat Metal 0.470 0.500 Screw N, KN, Sc 277-H
35-155 | 35-155-BU 8 (On) Off (On)| SPDT 20 10* 3/4 Bat Brass 0.325 0.500 Screw N, KN, Sc 277-H
35-185 | 35-185-BU 3 |On Off | DPST | 20 10* 1-1/2 Bat Metal | 0.465 0.500 | QC .250” N, KN 277
35-3005 | 35-3005-BU 9 On Off | SPST 20 10 3/4 Bat Brass 0.325 0.500 QC .250” N, KN 277-K
35-3010 | 35-3010-BU 9 |On On | SPDT 20 10 3/4 Bat Brass 0.325 0.500 QC .250” N, KN 277-K
35-3015 | 35-3015-BU 9 |On Off On | SPDT 20 10 3/4 Bat Brass 0.325 0.500 QC .250” N, KN 277-K
35-3020 | 35-3020-BU 7 10n On | DPDT 20 10* 1-1/2 Bat Brass 0.468 0.500 QC .250” N, KN 277-L
35-3025 | 35-3025-BU 7 On Off On | DPDT 20 10* 1-1/2 Bat Brass 0.468 0.500 QC .250” N, KN 277-L
35-3045 | 35-3045-BU | 10 |On Off | DPST 20 10 3/4 Bat Brass 0.468 0.500 QC .250” N, KN 277-M
35-3055 | 35-3055-BU 9 Off (On)| SPST 20 10 3/4 Bat Brass 0.468 0.500 QC .250” N, KN 277-K
35-3056 | 35-3056-BU | 9 |On Off | SPST | 20 10 3/4 Bat Brass | 0.325 0.500 Solder N.KN 277-K
35-3060 | 35-3060-BU 3 On Off | DPST 20 10* 1-1/2 Bat Brass 0.468 0.500 Screw N, KN, Sc 277-N
35-3075| 35-3075-BU | 11 |On Off | DPST 20 10 1-1/2 Bat Brass 0.465 0.500 Screw N, Sc 277-E
35-3170 | 35-3170-BU | 12 |On Off | SPST ok ok 1/2 Bat Brass 0.500 0.438 Screw KN, Sc 277-O
Notes: (On)/(Off)=Momentary On/Off ID=ID Plate
*Rated @ 277VAC KN=Knurled Nut
**1&2 On N=Nut
***Rated 35A @ 6VDC/20A @ 12VDC QC=Quick Connect
FN=Face Nut Sc=Screw

t=Progressive Two Circuit
Note: All figures are for illustration purpose only, and the number/type of terminals may vary.

276 Phone (815)316-9080¢Fax (815)316-9081

All quantities are single; BU’s are packages of 10 Unless otherwise noted.



SWITCHES G

L RN Y OIGGLES (Clont)

A B 35-143 & 35-3080 C
A S
i o oo, TR A%
s
(11.81)
!
75 l J— am
Sy
! | g <l @ i Jor
(8.8a) Ko e

125[3.18] DIA

330(8.38)
187]4.74] i--j
35-145 is 8 terminals only

db’[na‘\] WEL‘ °21 F SR R
03a] 985] 15228 A
213 - SLaT Wox D
(0.838) X ‘GBS 047
g nd e ‘r..:mm 15/32-32 74D
P o ; | 25
| ags[zz 73] 765[19.43] /)/\ I& ‘ I
19.5
= \E OFH| s,

oL he \-—zmaa\ 53.161 ——| 1.000(25.40] - 35-3075
bt 175014445 —me] el 836[21.23]- 353070 7]
ThRERD - | l
062[1.57]
| 5nln[|2¥m] DIA [
soREW Zi0fs.86)
- asSENBLED) o S0
KCYWAY 1.8 (0.072)W x 1.0 {0.032) -
pormhan e MOUNTING HOLE  WITH KEYWAY TERMINAL TYPE
KEYWAY
HEX
H HEX NUT ASSY I
KNURI NUT ASS 63 KNURL NUT ASSY
ON/OIT FA ASKY (150)

HIX MUT ASSY

.65
(16.5)

4697
(11 9]

('1 7 .4)

o

b - I J 188(4.8)
224
. zNo6-azuNe BT

33 Jor \
2-No.6-32 UNC a3, Terminals
&= ° (85} for 35-146, 35-148, 35-150, 35-151

\_zotio 55 unt

w
=
=2
=
o}
=
@
@

110X NUT ASSY /
KNUIL MU INBULK T
M8 ;
) e
4

S/32-32UNS-2A -5
3 / 187Qc
B87[17 44]
KEYWAY J‘
072[1 B2] e
LI 9&5 DP \
- T o
465(11.81] (25.01)
[ L
77819 76]
— Toggle e oz
42211072 | for 35-3025 13 (630

!
o |

il I
|= 1.308/33 22) =~  7s0{1908] =

N - )
i
Pr—— W & 1,062 (16,00)

= (26,975) 562
Fas— L,

[ pan A i u: ‘I [ e6s
= - ] \ (24.587)
. . . 3 ( T s [ 5
i J - i 375 l ™5
—r_ | 2015
1825] N orrac TERM.- 2 No.6 32 UNG (9.525) (51,18)
335

(14,27) 800

16/32-32 NS-2A

S 8-32 Bras:
Phillips S\ntted
For the latest information-www.gcelectronics.com 277

All quantities are single; BU’s are packages of 10 Unless otherwise noted.



